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8 Marks:

) Two dice, one blue and one qrey, ave thrown at the Same
}une. Write down all the ?os.s'\\o\q ouYcomes - Whal is %ke‘
P‘(O\)O\S\\'\t\j that the sum o} He Ywo nuwmbers appaonm(? on
the Yop o'§ Yhe dice is i) @ W13 i) less than or ¢qual fo ).

¢ WNumbut \/)2. : kvl
ame © Ckance consie,\'s cﬁ— s?'mmn o oxXyow which comes

o xest Po'm‘rivc_cj al one 0} Hhe numbers 4,2,3,40,5,6,7,8

and these ane e%a\\ \iko_\d outcomes: What 1s the \

Probabl\]\a Phat ¥ wl) pont a¥ 7 s
)& i) on odd numbey i) o numiey %rw&em Yhan 2 s

iv) oo number less than q9
3> A die is Yhrown once - F'mo\ the waab’.\ﬂz’ 0} &eﬁ’mﬁ

1) o prime numbey \) o number \a\'\nﬁ between 2 and 6

i) on 0dd wnumber. N) an odd prima namber

4) Ona cand is dvawn —&Yom o wad - shufPed deck of 52 cands.
Find The probabilit  of Se&ina D a k“tj of ¥ed colown
i) o 'S’O“Q cond HD o ved _}m cand V) the quk of
hewts V) a Spade vi) The quaen of diamonds.

5) Five cands, — the ton, jock, gueen, kin and ace oJL diamonds |
are well-shuffled with Yheir —}aco, downwards: One cand fs
then picked up ot vandom
). What 1s the on\oq,\o'\\i\a Phat the cand is the queen?

'.9 '13— the Qumeen s drawn and Pu% a.side_) what 15 the
Pfo\)a,\)’\\'nl'j Yhotr the sewond cond Pic\w.d up is a) an ace
b o Wn?

6) A box contains 9o discs which ate  numbexed &mm \ 5 90.
I} one disc is dvawn of random {—rom The bo&,-g'*hd the
prooabilify  thak it beans 1) a two-digh number ) a pecfed

scvuma nuambaer ifD a numbey diuisible ‘O& 5.
y
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1) A \ot onsists o 1wy ball pens of which 20 axe defeckive
ond the oYhars ave Qood: Nuri will buw a pen '\ﬁ» i¥ is aood,
but will wot buy it ik s dQJ,QChVQ,—Q
one  pen oY Yanrdom and cjues it Yo her. Whak is the Probo.bi\’dj
that \) ghe will bud it ii) she will noY \oud %2

‘3) A die is Yhrown Ywice: What is Yhe Fro\oa\ol\'\\a Yhak
i) 5 will not come up edbhex  ¥ime i[) 5 will Come up aX\east

once ?
9) Two unbiased coins ane Fossed  Simultancously. Find the

P-robabi\ﬁ\?j o} aoﬁin P exact one head iD aYleast ove head
iﬂ) O)TW\OSXF one hQ_(ld i\l) o »\0,0.A
19 Two dice ose vyolled simultaneously , and counfs ane added.
'l) COMP\Q‘\”Q. the jto\\ou.\'ﬂa Yaokble:
L O | E
tvot:"Sum | , [ a2 [ 4| s| 6| 3| &8)la |t l . e i
|

e sh oP\u.a.Pa,r draws

' on 2 dicd |
h |

iProba‘o’;\i\'j —3—:—; i | | E‘Z J

lD A bon conkains 100 dxr;c.s which ane vumbered  from e
- one disc is drown ot vandom S—mm Yhe ‘oo , §ind the
Proba}o’l\i\E that Tt bears 9 a %wo,diai’r Nnum'oex fDQPQXﬁL\r
iovmno. \9 o vnumber divisible % S i\D a number  divisible

\0-

\:an»no_ comd is dyawn -5—1’0m. a  wel 5\'\\.\8‘5’\0_() deck o} 52 cands.
F'md Yhe Pfobab'u\iia of ae‘\:ﬁv@ : 1) A quueen 4» black colowy
’\9 o e cond '\S'\) OLchck o:} diamond i\D o club cand
\9 face cond of sPo\,des Vi) queen \h'Dag knﬁ o} black colowr
vi) a non 5-00. cond ix) an ace %) ¥ed Queen m)q b\ack&m
cond Al o face cand of ved colown i) Jock of spadaes
x:N) o \q’ma of SPO.dL w) Gadt o} clubs
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H Harks:
D) Savitha and Homida  axe 5Yi¢nd5- What 15 the onbabl\i&j

that  both will  have i) dﬁﬁmon} lg'w\d.)da% ;() Bais \O'IY‘H)d%
('\ \r\O‘mL a loaP dean)-

a) A ‘ooéj contain 3 vad balls and 5 bladd balls IJ( a ball
ia Avaww  aY¥ vandowm :‘E\(Om the bag, what s the on\oabili\a
thot the bell dvawn js i) ved ’n()no} xad ?

3 A bag conYains lemon :Howowred condies onl 4 Halal Eakes
ouw} ove Can wiYhout  Looki info  the \ooij- What is the
PYOBO&)?“B Yhalt She '}akzs ou Q oun o‘(omﬁa —Sf\a.vmxmd
Co.hdd?, i\') o lemon t&\o@voumd Cwﬂ({j?

q) I+ is 8Iv¢n That n a  group oj; 3 students, the PYOBQ.U\IG

of 2 studenls noY hoving The Same bivthday is 0.992.

What is the P‘co\oabi\iﬁa Hioy Yhe 2 studenis have the

Same ‘Q’\\(H\&%j?

S A box contains 5 ved wanbles, 8 while warbles and Y gween
monbles: One marble fs token out of the box atr rvandom. What
s YThe onbabi\iig that the workle taken our will be 1) ved

'u'> white ’HD not green:
‘9 A lot OJL 20 bulbs contains 4y defecive ones. One bulb is
dyassn aX vandowm —j*\’om Yo ot SuPPose Yhe bulb dvawn is
noY do{;—u‘dua and  nok mP\aco_d- Now one bk s drawn
o ~vondowm on Yhe vest: What Ts the Probakﬂi\'& Yhat
Yhis bulb fs not de—u\:NQ_?
ﬁ The \r-'mﬁ) queen , and  jack 0}

Pcu,k of =2 onds ond Yhen the yamainin cands oane well
shu:H*\a,d. A cond i salected DL(om the Yowaining cands.
Find The probakility of- ga.ﬁin\ct oo cand ©) ofspace
3oy ek kg ) of ) of gacks.

clubs ome ¥ewroved Jt\’om a
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3) A P99y bank contains hundred Sop coins, 5.}% F1 coins, twenly
Ta coins ond Yan T Scons. TFiF s QW‘\C] likely Yhat ome gL
3he coims  wi)) :5011 out  whan the bank 78 tunnid quidQ down,
what is the Proba%i\i\:j Yhet the coin. L) will be a 5o0p coin
c:) will net be a T 5 coin.

‘)) A aama consisls oj— +ossin o one  vupae oin 3 Hmes and
‘PQLO\'cLLEﬂ s owome each Hme- Han\} wns 35’ o)) Yhe Yossas
give Mo same veswlt nao three heads or Yavee todls, and loses

othowwise: Caladale  the Pro\oa\oi\id thok Hcm'\:{— wil) lose the

aO-N\Q .

lO) Supyoso. we throw a die once
D) What is the P%obcﬂo{\ﬂ’j oj— ao:ﬁ:fnd o number Sraa):en

than 4?2
ID Whot s The on‘oa‘d\\‘& OJ' ae:\ﬁna a number less than or

Q;v;_nl"fo h?

N A box contains 3 blue, s> while and 4y ved wnanbles: I—&— a

mable i& dnown ok Youmdom —f«om the box, whak is the
waaso'\\i% bhot i+ wil be §) whitt ©) blue i) ved
12) Proapeet Yoesses Ytwo diffenent coins aimu\¥an¢ouéb- whak s
The on\oa)o\\'x’f thak she geis otlecut one head ?

139 Whek s the 'P\’O\oa,\o(\'\g ot o non.—\ecu,: Yean has

953 mondw# i) 52 Sundag
9) A numbon sdecred oY yandow ova TAEo R FmA

Yhe onbabilig Yhoak b 8 D) o prime vnumbaen \")Qhwﬁbm

ne,'ﬁ'hax ?Y'lmQ nor campo.s'\‘l'é WD& mu\fip(& o:[» 3
\s) 12 defective pens ane a.c.r,idqn\'a\\a waiked with 132 good 0va. It s
not Po.ss\b\ﬁ to Ju-ﬁ look ak a pan and 1el) whathar ox not it TS
AL}Q_&;UQ. one pen IS taken out ot vandom -:fro«\ this lob: DeYexrmine
Yhe Probaloi\IE thak the pen taken out fs a 300& one.
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V) l% p(E)=o0.05, what s Yo Pmbf)h‘\"!‘j 0} ‘not E’ ?

L) T p(e)=095 then p(_t)f -

‘) Out ()3 one - diot} P“(imo_ V\uﬁm\m_m/ one numbey s solacked ok
Yondom . “The obab‘t\i‘\(j 05’ salacki an  even nuwmbey 1
4) The sum 0.! the probabilivies o§vj all the dlamantary avents

of an oxpesiment s -

5) I+ one \atler s solecved  vandowm Jrom the |eters of the
wowd \CO\J\D‘ ’dna,n H\Q Fxobabi\ﬂ:tj 0} 8@ ir&j a mnsgnqnl—

5 ——

6) What 15 the Proba\oihg o} sune event ?

4) I-S € is anj event Hen P(E)*P(E_):————

99 On Yandom saleckion, find the probo.b';\i\"j o\{r (cjd:hnﬂ acomfnsﬂi
numkey among The numbers J[—rom 51 1o 100

°l> The Pxobabl\%
then §ind the probabilily ™ of “getting @ wropg answer.

.9 A box contains pencils and Pens-Té, P\’oba‘oié% oJL P"C'ki"
out o pen of vandom s 0.65 TThan :f—lnd the onbq\ai\il" not
pic\qng o pen

\D A cond is Pu\\ed from o dedk of s2 cands. Find the Froba\m'\il'j
05— ob¥aining o  cdubcand-

\29 wWhan a dice is 'Hn*rou.m, J—md. Yhe onba)o'\\i\a oJL ad:h’»a naither
o. prime oY a cnm?o's’tt’e number-

13) How wma —}cuo,s doas a diec haw?

lq) Pm\)a‘oi\'n\irj o} an aevent s cdmaa&_‘-———

) C0mg>\¢mo.n\ron events  meany

l9 Whan a  die Ts thrown once the onbabi\i@ of— an evant 30): - 4
{86 ———

1#) Jn a die , one -Facz is 3 Yhen exaﬁt\a opposite :}m B i

l%) Proba)o“?B 05— imPo&Sib\Q euant s

l"D I} p(E) =01003 -then -:F{nd p(E)

Lo) 15' P(E)::O-S then PCno{' E).: —_—

05, aq;\:hn ﬁa\n\r answer © a oVLQﬁ‘HOn is 0-6%,




21) A b(tj ontains 10 blak bals: T one ball s salected

chd,ow\\é.} fSYom tha 50.8) Han the PYobaEih\B of» 8o.‘c’cin o
While Ball 1B e

22) I one latten is selected romdom\éj -from the |etteny QJ~ the
word  EXAKUINATION , than the probah’\\i’g of &z&ir\a a vowel is

23) If p(e)= 043 then P(E) is

2q) Which of the -j—o\\owi\nﬂ connot be the pvobabﬂ\'{:gj o}» an
evant ? AZ B)or Jous DS

25) A single letter (s seected ot vandom -j«om the word Success.
The onbabi\i'ta thak % s a - ugwel s e

26) heS P(E) =009 Yhen -S—mci P (not €)

?.:9 Can _1_ be the onbohi\i@ oj— an event ?

29)  I% p(E)=1 than &ind P(E)




